PLYMOUTH YARN® F451

DESIGN . STUDIO
FREE WITH YARN PURCHASE

PASEA
Short Row Scarf

This short row scarf was inspired by the popular free pattern, “Wingspan”, by maylin Tri'‘Coterie Designs. You can find their
popular design on ravelry. Our modified version is for a heavier weight yarn, Pasea. It features more wedges that are smaller.

Approximate Measurements:
7Y% at widest point, 48, (58)” long

Materials:

Pasea: 2, (3)—100G balls, color 1011

Gauge: 16 sts = 4” in garter on size 9 needles.

Needles: US Size 9 long circular needle,

10 - 12 stitch markers- amount depends if you make the smaller or
larger size.

Pattern is written for smaller size, with larger size in
parenthesis. If only one number is given, it applies to both
sizes.

Step 1
Cast on 60 sts.

Knit one row.

Next Row: sl1, k4, pm, knit to end of row.

Next Row: sl1, knit to marker, remove marker, turn.

Next Row: sl1, k4, pm, knit to end of row.

Repeat the last 2 rows, working 5 less sts every other row,
until all sts have been worked.

Go on to Step 2.

Step 2
Row 1: sl1, knit 46 sts, turn.

Row 2: pm, sl1, k4, pm, knit to end of row, CO 13 sts.
Row 3: sl1, knit to first marker, remove marker, turn.
Row 4: sl1, k4, pm, knit to end of row.

Repeat the last 2 rows, working 5 less sts every other row, until all sts have been worked.
Go on to Step 3.

Step 3
Row 1: sl1, knit to 13 sts before the marker, turn.

Row 2: pm, sl1, k4, pm, knit to end of row, CO 13 sts.

Row 3: sl1, knit to first marker, remove marker, turn.

Row 4: sl1, k4, pm, knit to end of row.

Repeat the last 2 rows, working 5 less sts every other row, until all sts have been worked.
Repeat Step 3- (7) 9 times more- there will be (10) 12 wedges. Go on to Step 4.

Step 4
Knit across all sts of next row, removing all markers. Knit 4 more rows. Bind off all sts.
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ABBREVIATIONS: CO= cast on, dec = decrease, inc = increase, k = knit, m= marker, pm= place marker, psso = pass slip stitch
over, p = purl, RS=right side, sl = slip, SSK = slip 1 st as if to knit, slip a second st as if to knit, knit them together through the back
loop, st(s) = stitch(es), st st = stockinette st, thl = through back loop, tog = together, WS =Wrong Side, yo = yarn over, wyif = with
yarn in front, wyib = with yarn in back.



